
00471 

No. of Printed Pages : 8 

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2014 

LSE-01 

LIFE SCIENCE 

LSE-01 : CELL BIOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory. Attempt any four 
questions from question numbers 2 to 7. Use well 

labelled diagrams to support your answers 

wherever necessary. 

1. (a) Fill in the blanks with the appropriate 
words : 	 5 

(i) The basic proteins associated with the 
chromatin are known as 	 

(ii) 	 is the most abundant life 
form on the Earth. 

(iii) Sedimentation rate of centrifuge is 
represented by 	unit. 

(iv) Oparin, Fox and. Goldacre had proposed 
different models for 	  

(v) 	  enzyme fills the gaps 
after hybrid DNA helix formation. 
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(b) Match the items given under Column A and 
Column B correctly and rewrite : 	 5 

Column A 	 Column B 
(i) Triacylglycerol 	(1) TATA Box 

(ii) Promoter 	(2) Cytokinesis 
sequence 

(iii) Poly A tail 	(3) Structural 
protein 

(iv) Collagen 	(4) Simple lipid 

(v) Contractile ring (5) mRNA 

2. Mention whether the following statements are 
true or false and give reasons for your answer. 
Attempt any five. 	 5x2 

(a) Light microscope and Electron microscope 
are different from each other in their source 
of illumination. 

(b) In gel filtration, larger molecules are 
excluded first. 

(c) Unsaturated fatty acids have better keeping 
quality. 

(d) Higher K. indicates higher efficacy of the 
enzyme. 

(e) Membrane asymmetry is mainly due to 
carbohydrates. 
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(f) Many antibiotics inhibit eukaryotic protein 
synthesis. 

(g) UAA, UAG and UGA are known as 
termination codons. 

3. (a) Write a note on the structure and function 
of Chloroplast or Golgi Apparatus. 	5 

(b) Some RBCs are suspended in 50, 150 and 
300 mM solution of NaC1 and epidermal cells 
of Rhoeo (a plant), kept in 100, 300 and 
500 mM solution of sucrose. Predict their 
response and make drawings also. (Hint : 
150 mM solution of NaC1 is isotonic for 
RBCs and 300 mM solution of sucrose is 
isotonic for Rhoeo cells). 	 5 

4; (a) How did the transition from anaerobic to 
aerobic life occur ? What were its 
consequences on the Earth's atmosphere ? 	5 

(b) Describe the metabolism of pyruvate under 
aerobic and anaerobic conditions. 	 5 

5. (a) Write a short account of tissue culture. 	5 

(b) How is starch transported from one part of a 
plant to another ? Are the synthetic and 
hydrolytic reactions in starch metabolism 
similar ? 	 5 
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6. (a) Write an account of feedback regulation. 
Give reasons why end product regulation at 
initial stage of the pathway is significant. 	6 

(b) What is gel-sol theory ? 	 2 

(c) Draw a L.S. of root tip and label the various 
regions (no explanation is required). 	2 

7. (a) List any ten points of difference between 
mitosis and meiosis. 	 5 

(b) Write a brief note on chemotaxis. 	 5 
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